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 Select the correct alternative of the following questions. 
 

Q1. The principal value of 𝑐𝑜𝑠−1(
−1

2
 ) is  

a.
𝜋

3
   b. 

2𝜋

3
   c. 

𝜋

4
   d. none of these 

Q2. The principal value of 𝑐𝑜𝑠𝑒𝑐−1(− 2 ) is 

a. −
𝜋

4
         b. 

3𝜋

4
                      c. 

−𝜋

3
                                      d. none of these 

Q3. The principal value of 𝑐𝑜𝑡−1  
1

 3
   is 

a. 
𝜋

6
   b. 

𝜋

4
   c. 

𝜋

3
   d. none of these 

Q4. The principal value of 𝑡𝑎𝑛−1(−  3)  is 

a. 
𝜋

3
    b. 

𝜋

4
   c. 

−𝜋

4
   d. none of these 

Q5. The principal value of 𝑐𝑜𝑡−1(
−1

 3
 ) is 

a. 
2𝜋

3
                                  b. 

𝜋

4
   c. 

𝜋

6
                              d. none of these 

Q 6. The general value of 𝑠𝑖𝑛−1( 
 3

2
 ) is 

a. nπ − (−1)n  
π

3
        b. nπ + (−1)n  

π

3
         c. nπ + (−1)n  

π

6
         d. none of these 



Q7.         The general value of 𝑐𝑜𝑠−1( −1 ) is 

a. 2nπ ±  
π

2
        b. 2nπ ±  

π

3
       c. 2nπ ± π          d. none of these 

Q8. The general value of 𝑐𝑜𝑡−1( − 3 ) is 

a. nπ + 
5π

6
         b. nπ − 

5π

6
           c. nπ + 

π

6
          d. none of these 

Q9. If   2𝑡𝑎𝑛−1𝑥 =  𝑠𝑖𝑛−1 𝑘, then the value of k is  

a. 
1−𝑥2

1+𝑥2      b. 
2𝑥

1−𝑥2   c. 
2𝑥

1+𝑥2    d. none of these 

Q10. 𝑡𝑎𝑛−1 1

2
+ 𝑡𝑎𝑛−1 1

3
 

a. 
𝜋

2
    b. 

𝜋

3
   c. 

𝜋

6
   d. none of these 

Q11. Which of the following is the value of cot⁡( 𝑐𝑜𝑠𝑒𝑐−12 + 𝑐𝑜𝑠−1  
1

2
 ) 

a. 1                          b. 0                        c. -1                      d. none of these 

 

Q12. Which of the following is the value of ⁡( 𝑐𝑜𝑠−1 1

2
+  2𝑠𝑖𝑛 −1  

1

2
 ) 

a. 
5𝜋

6
    b. 

𝜋

3
   c. 

𝟐𝝅

𝟑
   d. none of these 

Q13. Which of the following is the value of (𝑐𝑜𝑠−1 1

𝑥
+  𝑐𝑜𝑠−1  

1

𝑦
 ), where 𝑠𝑒𝑐−1𝑥 =  𝑐𝑜𝑠𝑒𝑐−1y 

a. 𝜋    b. 
2𝜋

3
   c. 

5𝜋

6
                 d. none of these 

Q11. Which of the following is the value of ( 𝑠𝑖𝑛−1𝑥 − 𝑐𝑜𝑠−1𝑥 =  
𝜋

6
 ) 

a. 1                          b. 
1

2
                       c. 

1

 2
                     d. none of these 

Q11. Which of the following is the value of tan ⁡( 𝑡𝑎𝑛−1𝑥 +  𝑡𝑎𝑛−1  
1

𝑥
 ) for x>0, 

a. 
1

 3
                          b.  3                       c. 1                      d. none of these 

 

 

 

     


